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Mo.0 1.183686000 24.51234000 6.752712000
Mo.1 0.799510000 14.14905000 9.197404000
M2 0.778614000 14.9186 7000 9.403302000
Mo.3 0.777215000 14.97243000 9.417497000
Mo4 0.785386000 14.66252000 9.835340000
M5 0.797627000 13.22735000 9.215498000
M.6 0.797578000 13.18770000 9.215975000
M.7 0.797325000 12.93085000 9.218410000
M8 0.797668000 11.87507000 9.215111000
M.9 0.799629000 11.08709000 9.196264000
Mo.10 0.807588000 9.71525300 9.120751000
Mo.11 0.813277000 9.12513700 9.067712000
M.12 0.837261000 7.68157600 8.862521000
Mo.13 0.876933000 6.15692500 8.622836000
No.14 0.909762000 5.38202400 8.272791000
Mo.15 0.953201000 4.63062200 7.969594000
Mo.16 0.956565000 4.68134500 7.947322000
M.17 1.058443000 3.63375200 7.452104000
Mo.18 1.091684000 3.19348400 7.172380000




